Z[K ] := Z[RVKeK];

Z[rvk_RVK] := (*Z[rvk] =%)

Monitor |

PP--Z--@Module[{todo, n, rots, &, done, st, cx, £1,
i, j, k, k1, k2, k3},

{todo, rots} = List @@ rvk;
AppendTo[rots, 0];
n = Length[todo];
£ =E{5¢[9, 0, 1];

done = {0};
st = Range[0@, 2n +1];
While[{} =!= ($M = todo),

{cx} = MaximalBy[todo,
Length[done N {#[11, #[21, #[011] -1, #[2] -1}] &,
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{i, j} = List ee cx;
£1 = Switch[Head[cx],
Xp, (KRi,; kKinki) 7/ kmj, ;s
Xm, (kRi,; kKinky) /7 kmj i
[E
€1 = (rot[k, rots[ill] £1) // kmy,i,i; rots[i] = 0Q;
€1l = (Elrot[k, rots[i+1Q]) // kmj,isi;
rots[i+ 1] = 0;
€1 = (rot[k, rots[jl] &1) // kmy,j,j; rots[jl = 0;
€1l = (Elrot[k, rots[j+111) // kmj,iq;
rots[j+ 1] = 0;
€ x=C1;
If [MemberQ[done, i], £ =2 // kmi,i,15i;
st=st /. st[1+2] »st[i+1]];
If [MemberQ[done, i-11, £ =5 // KMsi[i],imst[i]3
st =st /. st[i+1] » st[il];
If [MemberQ[done, jl, & =25 //Kmj, 159
st=st /. st[]J+2] »st[j+1]1];
If [MemberQ[done, j-11, &= //kMsi[i],jnst[i]}
st = st /. st[j+1] » st[jl];
done =done Y {i-1, i, j-1, j};
todo = DeleteCases[todo, cx]
]
Simplify /@ (£ /. {Xe =X, Yo = Y, @g » a})
], $mj



